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General instructions

The question paper has questions in all. All questions are   compulsory.

1. List one common item which are appeared in fixed capital account and fluctuating capital account                                                                                                                           [1]

2. If a fixed amount is withdrawn on the first day of every quarter, for what period the interest on total amount withdrawn will be calculated?                                                            [1]

3. There should be at least two persons to form a partnership. Although as per the Partnership Act of 1932, there is no maximum limit on the number of partners in a partnership firm, but as per the Rule (10) of the Companies (Miscellaneous) Rules Act 2014, the maximum number of partners permissible is -----------                                 [1] 
4. State whether the following statements are True or False                                              [1x4=4]

 (a) Each partner carrying on the business is the principal as well as the agent for all the other partners

 (b) Maximum number of partners in a banking firm can be 20

 (c) Methods of settlement of dispute among the partners cannot be part of the partnership deed

 (d) If the deed is silent, the interest at the rate of 6% p.a would be charged on the drawings made by the partner

Multi Line Text
4. If a partner withdraws Rs 5,000 in the beginning of each quarter and the interest is charged @ 10% on the drawings,: Total drawings made by the partner during the whole year are 

a. Rs -----------------------------------------------------------------                                                  [1]  
b. then interest on drawings is calculated as-----------------                                                [1]
6.. Explain why it is considered better to make a partnership agreement in writing.[ 1x3=3]                                                                                                          a.-----------------------------
b.------------------------------

c.-------------------------------

7. Ram, Raj and George are partners sharing profits in the ratio 5 : 3 : 2. According to the partnership agreement George is to get a minimum amount of Rs 10,000 as his share of profits every year. The net profit for the year 2013 amounted to Rs 40,000. Prepare profit and loss appropriation account  and find the profit transferred to                                                 [1x3=3]
Ram capital--------------------------

Raj  capital-----------------------

George capital--------------------------

8. Rahul, Rohit and Karan started partnership business on April 1, 2016 with capitals of Rs 20,00,000, Rs 18,00,000 and Rs 16,00,000, respectively. The profit for the year ended March 2017 amounted to Rs 1,35,000 and the partner’s drawings had been Rahul Rs 50,000, Rohit Rs 50,000 and Karan Rs 40,000. The profits are distributed among partner’s in the ratio of 3:2:1. Calculate the interest on capital @ 5% p.a.                                                                    [1x3=3]
Rahul----------------

Rohit---------------------------

George-----------------------

9. Two important characteristics of partnership are:                                                                [2]

a. --------------------------------------

b. -----------------------------------------
Required to answer
Required to answer
